



CERTIFICATE OF ORIGIN

ORIGINAL

TO VALIDATE, GO TO VERIFY.FTGS.US Certificate Number : **LA-COO-68900-69454e658cc74**
Date : December 19, 2025

Seller (Exporter) ORLY INTERNATIONAL 7710 Haskell Avenue Los Angeles California 91406 United States	Transport Type Vessel	Port of Loading Los Angeles
Consignee ORLY INTERNATIONAL, INC 7710 HASKELL AVE VAN NUYS, CA 91406 United States	Destination Country Kuwait	Destination Port SALMIYA
	Export Date *****	Exporting Carrier *****
	Import Permit Number *****	Bill of Lading / AWB *****
	Owner or Agent *****	Forwarding Agent *****

Buyer (Importer) DISTRICT GENERAL TRADING & CONTRACTING CO. HAMAD AL MUBARAK STREET PO BOX 8958 SALMIYA, 22100 Kuwait	Remarks SO448091	
--------------------------------------------------------------------------------------------------------------------------------------	---------------------	-------------------------------------------------------------------------------------

Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
NAIL POLISH/ NAIL TREATMENT H.S.Code: 3304.30.0000 Marks: 236 CARTONS	723.8 KG	United States
WIPES H.S.Code: 9616.20.0000 Marks: 1 CARTONS	1.8 KG	China
NAIL FILES H.S.Code: 6805.20.0000 Marks: 1 CARTONS	3.4 KG	Korea, Republic of (South Korea)
LOTIONS H.S.Code: 3304.99.5000 Marks: 2 CARTONS	19.63 KG	United States
WHITE TIPS GUIDES Accredited Chamber US2100201 H.S.Code: 3926.90.3000 Marks: 1 CARTONS	1 KG	United States
NAIL BRUSH/ NAIL TOOLS H.S.Code: 9603.30.9000/ 8214.20.0000 Marks: 1 CARTONS	0.6 KG	China
=====end of products=====	=====	=====

Name of Authorized Trade Association 		The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that: <ul style="list-style-type: none"> The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods. The information in this certificate and in any documents provided to the Los Angeles Area Chamber of Commerce ("LAACC") is accurate, true and complete. The Applicant undertakes to advise LAACC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods. The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents. In consideration for the LAACC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless LAACC from any liability in connection with the issuance of this certificate and to indemnify LAACC in respect of any costs and/or claims made against LAACC in connection herewith. The Applicant is authorized to give the undertakings set out herein.
Authorized Signature <i>Farhad Ghorbani Fard</i>		

Sold-To:
DISTRICT GENERAL TRADING
& CONTRACTING CO.
HAMAD AL MUBARAK STREET
P.O. BOX 9958
SALMIYA, 22100
KUWAIT

Ship-To:
DISTRICT GENERAL TRADING
& CONTRACTING CO.
HAMAD AL MUBARAK STREET
P.O. BOX 9958
SALMIYA, 22100
KUWAIT

Credit Terms: N90
Resale:
Remarks:

Attention: Mohammad Khalaik
Telephone: 818-994-1001
Purchase Order(s): DST-25002205
Ship Via: OCEAN
Freight Terms: Ex Works

Ln	Item Nbr	Description	Qty	UM	Net Price	Ext Price	Country of Origin:	HS Code
1	20758	ORLY LAQ .6fl oz/18ml ARTIFICIAL SWEETENER	36	EA	2.111	75.98	USA	3304.30.0000
2	20866	ORLY LAQ .6fl oz/18ml BEAUTIFULLY BIZARRE	36	EA	2.111	75.98	USA	3304.30.0000
3	22105	ORLY FM LAQ .6fl oz/18ml BEVERLY HILLS PLUM	36	EA	2.111	75.98	USA	3304.30.0000
4	20087	ORLY LAQ .6fl oz/18ml BUS STOP CRIMSON	36	EA	2.111	75.98	USA	3304.30.0000
5	20844	ORLY LAQ .6fl oz/18ml CAKE POP	72	EA	2.111	151.96	USA	3304.30.0000
6	20039	ORLY LAQ .6fl oz/18ml CLEAR	72	EA	2.111	151.96	USA	3304.30.0000
7	20693	ORLY LAQ .6fl oz/18ml CONFETTI	108	EA	2.110	227.93	USA	3304.30.0000
8	20670	ORLY LAQ .6fl oz/18ml CUPCAKE	36	EA	2.111	75.98	USA	3304.30.0000
9	20001	ORLY LAQ .6fl oz/18ml HAUTE RED	72	EA	2.111	151.96	USA	3304.30.0000
10	20935	ORLY LAQ .6fl oz/18ml JUST BITTEN	180	EA	2.111	379.89	USA	3304.30.0000
11	20016	ORLY LAQ .6fl oz/18ml KISS THE BRIDE	36	EA	2.111	75.98	USA	3304.30.0000
12	20484	ORLY LAQ .6fl oz/18ml LIQUID VINYL	36	EA	2.111	75.98	USA	3304.30.0000
13	2000012	ORLY LAQ .6fl oz/18ml LOVELLA	72	EA	2.111	151.96	USA	3304.30.0000
14	20025	ORLY LAQ .6fl oz/18ml MA CHERIE	72	EA	2.111	151.96	USA	3304.30.0000
15	20006	ORLY LAQ .6fl oz/18ml NAUGHTY	36	EA	2.111	75.98	USA	3304.30.0000
16	22009	ORLY FM LAQ .6fl oz/18ml PINK NUDE	108	EA	2.110	227.93	USA	3304.30.0000
17	22503	ORLY FM LAQ .6fl oz/18ml POINTE BLANCHE	180	EA	2.111	379.89	USA	3304.30.0000
18	20742	ORLY LAQ .6fl oz/18ml PURE PORCELAIN	36	EA	2.111	75.98	USA	3304.30.0000
19	20076	ORLY LAQ .6fl oz/18ml RED FLARE	72	EA	2.111	151.96	USA	3304.30.0000
20	2000021	ORLY LAQ .6fl oz/18ml ROSE ALL DAY	36	EA	2.111	75.98	USA	3304.30.0000
21	22474	ORLY FM LAQ .6fl oz/18ml ROSE-COLORED GLASSES	108	EA	2.110	227.93	USA	3304.30.0000
22	20363	ORLY LAQ .6fl oz/18ml RUBY	108	EA	2.110	227.93	USA	3304.30.0000
23	20065	ORLY LAQ .6fl oz/18ml SEALON TOPCOAT	288	EA	2.110	607.82	USA	3304.30.0000
24	22479	ORLY FM LAQ .6fl oz/18ml SHEER NUDE	36	EA	2.111	75.98	USA	3304.30.0000
25	2000003	ORLY LAQ .6fl oz/18ml SNUGGLE UP	36	EA	2.111	75.98	USA	3304.30.0000
26	2000016	ORLY LAQ .6fl oz/18ml SPIRIT JUNKIE	36	EA	2.111	75.98	USA	3304.30.0000
27	20943	ORLY LAQ .6fl oz/18ml STILETTO ON THE RUN	36	EA	2.111	75.98	USA	3304.30.0000
28	22001	ORLY FM LAQ .6fl oz/18ml WHITE TIPS	36	EA	2.111	75.98	USA	3304.30.0000
29	22012	ORLY FM WHITE TIP GUIDES	54	EA	2.670	144.18	USA	3926.90.3000
30	24110	ORLY TRT .6fl oz/18ml BONDER BASECOAT	504	EA	3.120	1,572.48	USA	3304.30.0000
31	24130	ORLY TRT .6fl oz/18ml TOP 2 BOTTOM	108	EA	3.120	336.96	USA	3304.30.0000
32	24270	ORLY TRT .6fl oz/18ml POLISHIELD	540	EA	3.120	1,684.80	USA	3304.30.0000
33	24310	ORLY TRT .6fl oz/18ml SEC N' DRY	108	EA	3.120	336.96	USA	3304.30.0000
34	24510	ORLY TRT .6fl oz/18ml CUTIQUE	108	EA	3.120	336.96	USA	3304.30.0000
35	24555	ORLY TRT 6pc 1fl oz/30ml CUTICLE OIL+ (PLUS)	50	EA	17.550	877.50	USA	3304.99.5000
36	2440013	ORLY TRT .6fl oz/18ml ONE NIGHT STAND	72	EA	3.600	259.20	USA	3304.30.0000
37	24340	ORLY TRT .6fl oz/18ml FLASH DRY	144	EA	3.600	518.40	USA	3304.30.0000
38	26048	ORLY PRO 33fl oz/976ml MASSAGE CREME	18	EA	8.925	160.65	USA	3304.99.5000
39	23574	ORLY BLACK BOARD CANISTER 100PC PK	6	EA	40.000	240.00	KOREA	6805.20.0000
40	23135	ORLY ESS 2fl oz/59ml NAIL LACQUER THINNER	84	EA	3.000	252.00	USA	3304.30.0000
41	23113	ORLY 4fl oz/118ml GENIUS ALL PURPOSE REMOVER	120	EA	2.250	270.00	USA	3304.30.0000
42	23114	ORLY 16fl oz/473ml GENIUS ALL PURPOSE REMOVER	24	EA	5.850	140.40	USA	3304.30.0000



ORIGINAL

43 2000315	ORLY LAQ .6fl oz/18ml SEA BLOSSOM	36 EA	2.111	75.98	USA	3304.30.0000
44 2000316	ORLY LAQ .6fl oz/18ml WISTFUL WATER LILY	36 EA	2.111	75.98	USA	3304.30.0000
45 2000318	ORLY LAQ .6fl oz/18ml SEA SPRAY	36 EA	2.111	75.98	USA	3304.30.0000
46 2000373	ORLY® LAQ US .6 Fl. Oz. / Oz. Liq. 18 mL e SHAGGIN WAGON	36 EA	2.111	75.98	USA	3304.30.0000
47 2000376	ORLY® LAQ US .6 Fl. Oz. / Oz. Liq. 18 mL e BELL BOTTOM BLUES	36 EA	2.111	75.98	USA	3304.30.0000
48 2460001	ORLY BRTHABLE TRT.6fl oz /18ml PROTEIN BOOST	108 EA	4.050	437.40	USA	3304.30.0000
49 2460002	ORLY BRTHABLE TRT.6fl oz /18ml CALCIUM BOOST	108 EA	4.050	437.40	USA	3304.30.0000
50 2460003	ORLY BRTHABLE TRT.6fl oz /18ml CUTICLE OIL	72 EA	4.050	291.60	USA	3304.30.0000
51 2060107	ORLY BREATHABLE .6fl oz /18ml YEAH, FOR SHERPA	36 EA	2.211	79.60	USA	3304.30.0000
52 2060051	ORLY BREATHABLE .6fl oz /18ml AFTER HOURS	108 EA	2.211	238.79	USA	3304.30.0000
53 20949	ORLY BREATHABLE .6fl oz /18ml ALMOND MILK	108 EA	2.211	238.79	USA	3304.30.0000
54 2060004	ORLY BREATHABLE .6fl oz /18ml ASTRAL FLAIRE	36 EA	2.211	79.60	USA	3304.30.0000
55 20908	ORLY BREATHABLE .6fl oz /18ml BARELY THERE	36 EA	2.211	79.60	USA	3304.30.0000
56 2060068	ORLY BREATHABLE .6fl oz /18ml BURST YOUR BUBBLEGUM	36 EA	2.211	79.60	USA	3304.30.0000
57 20989	ORLY BREATHABLE .6fl oz /18ml CRYSTAL HEALING	108 EA	2.211	238.79	USA	3304.30.0000
58 2060072	ORLY BREATHABLE .6fl oz /18ml DON'T SWEET IT	36 EA	2.211	79.60	USA	3304.30.0000
59 2010020	ORLY BREATHABLE .6fl oz /18ml DOUBLE ESPRESSO	72 EA	2.211	159.19	USA	3304.30.0000
60 20951	ORLY BREATHABLE .6fl oz /18ml DOWN TO EARTH	36 EA	2.211	79.60	USA	3304.30.0000
61 2010023	ORLY BREATHABLE .6fl oz /18ml FRESH CLOVE	72 EA	2.211	159.19	USA	3304.30.0000
62 20961	ORLY BREATHABLE .6fl oz /18ml GOOD KARMA	36 EA	2.211	79.60	USA	3304.30.0000
63 20984	ORLY BREATHABLE .6fl oz /18ml GRATEFUL HEART	72 EA	2.211	159.19	USA	3304.30.0000
64 20953	ORLY BREATHABLE .6fl oz /18ml KISS ME, I'M KIND	144 EA	2.211	318.38	USA	3304.30.0000
65 20909	ORLY BREATHABLE .6fl oz /18ml LIGHT AS A FEATHER	72 EA	2.211	159.19	USA	3304.30.0000
66 20905	ORLY BREATHABLE .6fl oz /18ml LOVE MY NAILS	144 EA	2.211	318.38	USA	3304.30.0000
67 2010005	ORLY BREATHABLE .6fl oz /18ml MIND OVER MATTER	36 EA	2.211	79.60	USA	3304.30.0000
68 20958	ORLY BREATHABLE .6fl oz /18ml MORNING MANTRA	72 EA	2.211	159.19	USA	3304.30.0000
69 20963	ORLY BREATHABLE .6fl oz /18ml NAMASTE HEALTHY	324 EA	2.211	716.36	USA	3304.30.0000
70 20907	ORLY BREATHABLE .6fl oz /18ml NOURISHING NUDE	72 EA	2.211	159.19	USA	3304.30.0000
71 2060064	ORLY BREATHABLE .6fl oz /18ml ONE IN VERMILLION	72 EA	2.211	159.19	USA	3304.30.0000
72 20913	ORLY BREATHABLE .6fl oz /18ml PAMPER ME	180 EA	2.211	397.98	USA	3304.30.0000
73 20914	ORLY BREATHABLE .6fl oz /18ml REHAB	72 EA	2.211	159.19	USA	3304.30.0000
74 2060016	ORLY BREATHABLE .6fl oz /18ml RIDE OR DIE	36 EA	2.211	79.60	USA	3304.30.0000
75 20966	ORLY BREATHABLE .6fl oz /18ml SHEER LUCK	72 EA	2.211	159.19	USA	3304.30.0000
76 20964	ORLY BREATHABLE .6fl oz /18ml STAYCATION	36 EA	2.211	79.60	USA	3304.30.0000
77 2060002	ORLY BREATHABLE .6fl oz /18ml SUPERNOVA GIRL	72 EA	2.211	159.19	USA	3304.30.0000
78 20903	ORLY BREATHABLE .6fl oz /18ml THE ANTIDOTE	36 EA	2.211	79.60	USA	3304.30.0000
79 2010008	ORLY BREATHABLE .6fl oz /18ml TRAILBLAZER	36 EA	2.211	79.60	USA	3304.30.0000
80 20956	ORLY BREATHABLE .6fl oz /18ml WHITE TIPS	36 EA	2.211	79.60	USA	3304.30.0000
81 2060014	ORLY BREATHABLE .6fl oz /18ml YOU'RE A DOLL	36 EA	2.211	79.60	USA	3304.30.0000
82 24903	ORLY BREATHABLE .6fl oz /18ml TREATMENT SHINE	180 EA	2.211	397.98	USA	3304.30.0000
83 33001	GEL FX 4fl oz/118ml 3-in-1 CLEANSER	72 EA	2.300	165.60	USA	3304.30.0000
84 33011	GEL FX 16fl oz/473ml 3-in-1 CLEANSER	60 EA	5.370	322.20	USA	3304.30.0000
85 33523	GEL FX LINT-FREE WIPES 240pc	24 EA	3.750	90.00	CHINA	9616.20.0000
86 33529	ORLY DOTTER DUO	20 EA	2.700	54.00	CHINA	8214.20.0000
87 2000367	ORLY LAQ .6fl oz/18ml CHALET GETAWAY	36 EA	2.200	79.20	USA	3304.30.0000
88 2000363	ORLY LAQ .6fl oz/18ml DOUBLE DIAMOND	36 EA	2.200	79.20	USA	3304.30.0000
89 2000365	ORLY LAQ .6fl oz/18ml FRESH POWDER	36 EA	2.200	79.20	USA	3304.30.0000
90 2000364	ORLY LAQ .6fl oz/18ml SNOW BUNNY	36 EA	2.200	79.20	USA	3304.30.0000




ORIGINAL

91 20917	ORLY BREATHABLE .6fl oz /18ml FRESH START	36 EA	2.211	79.60	USA	3304.30.0000
92 2010018	ORLY BREATHABLE .6fl oz /18ml RICH UMBER	72 EA	2.211	159.19	USA	3304.30.0000
93 34100	GEL FX TRT .3fl oz/9ml ,NAIL TIP PRIMER	96 EA	4.080	391.68	USA	3304.30.0000
94 34104	GEL FX TRT .6fl oz/18ml, NAIL TIP PRIMER	144 EA	5.736	825.98	USA	3304.30.0000
95 33527	ORLY SHORT DETAILER BRUSH	20 EA	3.336	66.72	CHINA	9603.30.9000
96 3000773	ORLY® GELFX® CLR US .3 Fl. Oz. / Oz. Liq. 9 mL e HALO	36 EA	2.245	80.82	USA	3304.30.0000
97 3002474	ORLY® GELFX® CLR US .3 Fl. Oz. / Oz. Liq. 9 mL e ROSE-COLORED GLASSES	72 EA	2.245	161.64	USA	3304.30.0000
98 3430015	ORLY® GELFX® TRT US .6 Fl. Oz. / Oz. Liq. 18 mL e BUILDER IN A BOTTLE CRYSTAL	120 EA	6.600	792.00	USA	3304.30.0000
99 3400004	ORLY® GELFX® TRT US .6 Fl. Oz. / Oz. Liq. 18 mL e NO CLEANSE TOPCOAT	36 EA	3.590	129.24	USA	3304.30.0000

Line Total 22,214.79

Currency: USD

TOTAL INVOICE 22,214.79



ORIGINAL



ORLY®

ORLY International
7710 Haskell Avenue Los Angeles, California 91406 USA
800 275 1111 • 818 994 1001 • F 818 994 1144
orlybeauty.com

Export Packing List

Page 1 of 3

INVOICE NO.: SO448091

Date: 11/24/2025

Country of Origin: United States

Sold-To:
DISTRICT GENERAL TRADING
& CONTRACTING CO.
HAMAD AL MUBARAK STREET
P.O. BOX 9958
SALMIYA, 22100
KUWAIT

Ship-To:
DISTRICT GENERAL TRADING
& CONTRACTING CO.
HAMAD AL MUBARAK STREET
P.O. BOX 9958
SALMIYA, 22100
KUWAIT

2PLTS Hazardous: 214 ctns., 668.12 kg
1 PLT Non-Hazardous: 28 ctns., 82.11 kg

Attention: Mohammad Khalaik
Telephone: 818-994-1001
Purchase Order(s): DST-25002205
Ship Via: Ocean
Freight Terms: Ex Works

Credit Terms: N90

Ln	Item Nbr	Description	Qty	UM	ctn#	plt#
1	20758	ORLY LAQ .6fl oz/18ml ARTIFICIAL SWEETENER	36	EA	1	1
2	20866	ORLY LAQ .6fl oz/18ml BEAUTIFULLY BIZARRE	36	EA	2	1
3	22105	ORLY FM LAQ .6fl oz/18ml BEVERLY HILLS PLUM	36	EA	3	1
4	20087	ORLY LAQ .6fl oz/18ml BUS STOP CRIMSON	36	EA	4	1
5	20844	ORLY LAQ .6fl oz/18ml CAKE POP	72	EA	5.6.	1
6	20039	ORLY LAQ .6fl oz/18ml CLEAR	72	EA	7.8	1
7	20693	ORLY LAQ .6fl oz/18ml CONFETTI	108	EA	9-11.	1
8	20670	ORLY LAQ .6fl oz/18ml CUPCAKE	36	EA	12	1
9	20001	ORLY LAQ .6fl oz/18ml HAUTE RED	72	EA	13.14	1
10	20935	ORLY LAQ .6fl oz/18ml JUST BITTEN	180	EA	15-19.	1
11	20016	ORLY LAQ .6fl oz/18ml KISS THE BRIDE	36	EA	20	1
12	20484	ORLY LAQ .6fl oz/18ml LIQUID VINYL	36	EA	21	1
13	2000012	ORLY LAQ .6fl oz/18ml LOVELLA	72	EA	22.23.	1
14	20025	ORLY LAQ .6fl oz/18ml MA CHERIE	72	EA	24.25.	1
15	20006	ORLY LAQ .6fl oz/18ml NAUGHTY	36	EA	26	1
16	22009	ORLY FM LAQ .6fl oz/18ml PINK NUDE	108	EA	27-29.	1
17	22503	ORLY FM LAQ .6fl oz/18ml POINTE BLANCHE	180	EA	30-34.	1
18	20742	ORLY LAQ .6fl oz/18ml PURE PORCELAIN	36	EA	35	1
19	20076	ORLY LAQ .6fl oz/18ml RED FLARE	72	EA	36.37.	1
20	2000021	ORLY LAQ .6fl oz/18ml ROSE ALL DAY	36	EA	38	1
21	22474	ORLY FM LAQ .6fl oz/18ml ROSE-COLORED GLASSES	108	EA	39-41.	1
22	20363	ORLY LAQ .6fl oz/18ml RUBY	108	EA	42-44.	1



ORIGINAL

LA-C00-68900-69454e658cc74/December 19, 2025

23 20065	ORLY LAQ .6fl oz/18ml SEALON TOPCOAT	288 EA	45-52.	1
24 22479	ORLY FM LAQ .6fl oz/18ml SHEER NUDE	36 EA	53	1
25 2000003	ORLY LAQ .6fl oz/18ml SNUGGLE UP	36 EA	54	1
26 2000016	ORLY LAQ .6fl oz/18ml SPIRIT JUNKIE	36 EA	55	1
27 20943	ORLY LAQ .6fl oz/18ml STILETTO ON THE RUN	36 EA	56	1
28 22001	ORLY FM LAQ .6fl oz/18ml WHITE TIPS	36 EA	57	1
29 22012	ORLY FM WHITE TIP GUIDES	54 EA	232	1
30 24110	ORLY TRT .6fl oz/18ml BONDER BASECOAT	504 EA	140-153	1
31 24130	ORLY TRT .6fl oz/18ml TOP 2 BOTTOM	108 EA	154-156	1
32 24270	ORLY TRT .6fl oz/18ml POLISHIELD	540 EA	157-171	1
33 24310	ORLY TRT .6fl oz/18ml SEC N' DRY	108 EA	172-174	1
34 24510	ORLY TRT .6fl oz/18ml CUTIQUE	108 EA	215-217	3
35 24555	ORLY TRT 6pc 1fl oz/30ml CUTICLE OIL+ (PLUS)	50 EA	20-227.22	3.1
36 2440013	ORLY TRT .6fl oz/18ml ONE NIGHT STAND	72 EA	175-176.	1
37 24340	ORLY TRT .6fl oz/18ml FLASH DRY	144 EA	177-180	1
38 26048	ORLY PRO 33fl oz/976ml MASSAGE CREME	18 EA	229.230.	3
39 23574	ORLY BLACK BOARD CANISTER 100PC PK	6 EA	231	3
40 23135	ORLY ESS 2fl oz/59ml NAIL LACQUER THINNER	84 EA	208-214.	2
41 23113	ORLY 4fl oz/118ml GENIUS ALL PURPOSE REMOVER	120 EA	201-205	2
42 23114	ORLY 16fl oz/473ml GENIUS ALL PURPOSE REMOVER	24 EA	206.207.	2
43 2000315	ORLY LAQ .6fl oz/18ml SEA BLOSSOM	36 EA	58	1
44 2000316	ORLY LAQ .6fl oz/18ml WISTFUL WATER LILY	36 EA	59	1
45 2000318	ORLY LAQ .6fl oz/18ml SEA SPRAY	36 EA	60	1
46 2000373	ORLY® LAQ US .6 Fl. Oz. / Oz. Liq. 18 mL e SHAGGIN WAG	36 EA	61	1
47 2000376	ORLY® LAQ US .6 Fl. Oz. / Oz. Liq. 18 mL e BELL BOTTOM	36 EA	62	1
48 2460001	ORLY BIRTHABLE TRT.6fl oz /18ml PROTEIN BOOST	108 EA	181-183.	1
49 2460002	ORLY BIRTHABLE TRT.6fl oz /18ml CALCIUM BOOST	108 EA	184-186.	1
50 2460003	ORLY BIRTHABLE TRT.6fl oz /18ml CUTICLE OIL	72 EA	218.219.	3
51 2060107	ORLY BREATHABLE .6fl oz /18ml YEAH, FOR SHERPA	36 EA	63	1
52 2060051	ORLY BREATHABLE .6fl oz /18ml AFTER HOURS	108 EA	64-66.	1
53 20949	ORLY BREATHABLE .6fl oz /18ml ALMOND MILK	108 EA	67-69	1
54 2060004	ORLY BREATHABLE .6fl oz /18ml ASTRAL FLAIRE	36 EA	70	1
55 20908	ORLY BREATHABLE .6fl oz /18ml BARELY THERE	36 EA	71	1
56 2060068	ORLY BREATHABLE .6fl oz /18ml BURST YOUR BUBBLEGI	36 EA	72	1
57 20989	ORLY BREATHABLE .6fl oz /18ml CRYSTAL HEALING	108 EA	73-75.	1
58 2060072	ORLY BREATHABLE .6fl oz /18ml DON'T SWEET IT	36 EA	76	1
59 2010020	ORLY BREATHABLE .6fl oz /18ml DOUBLE ESPRESSO	72 EA	77.78.	1

ORIGINAL



60 20951	ORLY BREATHABLE .6fl oz /18ml DOWN TO EARTH	36 EA	79	1
61 2010023	ORLY BREATHABLE .6fl oz /18ml FRESH CLOVE	72 EA	80.81	1
62 20961	ORLY BREATHABLE .6fl oz /18ml GOOD KARMA	36 EA	82	1
63 20984	ORLY BREATHABLE .6fl oz /18ml GRATEFUL HEART	72 EA	83.84.	1
64 20953	ORLY BREATHABLE .6fl oz /18ml KISS ME, I'M KIND	144 EA	85-88.	1
65 20909	ORLY BREATHABLE .6fl oz /18ml LIGHT AS A FEATHER	72 EA	89.90.	1
66 20905	ORLY BREATHABLE .6fl oz /18ml LOVE MY NAILS	144 EA	91-94.	1
67 2010005	ORLY BREATHABLE .6fl oz /18ml MIND OVER MATTER	36 EA	95	1
68 20958	ORLY BREATHABLE .6fl oz /18ml MORNING MANTRA	72 EA	96.97.	1
69 20963	ORLY BREATHABLE .6fl oz /18ml NAMASTE HEALTHY	324 EA	98-106.	1
70 20907	ORLY BREATHABLE .6fl oz /18ml NOURISHING NUDE	72 EA	107.108.	1
71 2060064	ORLY BREATHABLE .6fl oz /18ml ONE IN VERMILLION	72 EA	109.11	1
72 20913	ORLY BREATHABLE .6fl oz /18ml PAMPER ME	180 EA	111-115	1
73 20914	ORLY BREATHABLE .6fl oz /18ml REHAB	72 EA	116.117.	1
74 2060016	ORLY BREATHABLE .6fl oz /18ml RIDE OR DIE	36 EA	118	1
75 20966	ORLY BREATHABLE .6fl oz /18ml SHEER LUCK	72 EA	119.120.	1
76 20964	ORLY BREATHABLE .6fl oz /18ml STAYCATION	36 EA	121	1
77 2060002	ORLY BREATHABLE .6fl oz /18ml SUPERNOVA GIRL	72 EA	122.123.	1
78 20903	ORLY BREATHABLE .6fl oz /18ml THE ANTIDOTE	36 EA	124	1
79 2010008	ORLY BREATHABLE .6fl oz /18ml TRAILBLAZER	36 EA	125	1
80 20956	ORLY BREATHABLE .6fl oz /18ml WHITE TIPS	36 EA	126	1
81 2060014	ORLY BREATHABLE .6fl oz /18ml YOU'RE A DOLL	36 EA	127	1
82 24903	ORLY BREATHABLE .6fl oz /18ml TREATMENT SHINE	180 EA	128-132.	1
83 33001	GEL FX 4fl oz/118ml 3-in-1 CLEANSER	72 EA	187-189.	2
84 33011	GEL FX 16fl oz/473ml 3-in-1 CLEANSER	60 EA	190-194.	2
85 33523	GEL FX LINT-FREE WIPES 240pc	24 EA	233	3
86 33529	ORLY DOTTER DUO	20 EA	234	3
87 2000367	ORLY LAQ .6fl oz/18ml CHALET GETAWAY	36 EA	133	1
88 2000363	ORLY LAQ .6fl oz/18ml DOUBLE DIAMOND	36 EA	134	1
89 2000365	ORLY LAQ .6fl oz/18ml FRESH POWDER	36 EA	135	1
90 2000364	ORLY LAQ .6fl oz/18ml SNOW BUNNY	36 EA	136	1
91 20917	ORLY BREATHABLE .6fl oz /18ml FRESH START	36 EA	137	1
92 2010018	ORLY BREATHABLE .6fl oz /18ml RICH UMBER	72 EA	138.139.	1
93 34100	GEL FX TRT .3fl oz/9ml ,NAIL TIP PRIMER	96 EA	195.196.	2
94 34104	GEL FX TRT .6fl oz/18ml, NAIL TIP PRIMER	144 EA	197-200	2
95 33527	ORLY SHORT DETAILER BRUSH	20 EA	234	3
96 3000773	ORLY® GELFX® CLR US .3 Fl. Oz. / Oz. Liq. 9 mL e HALO	36 EA	235	3
97 3002474	ORLY® GELFX® CLR US .3 Fl. Oz. / Oz. Liq. 9 mL e ROSE-C	72 EA	236.237.	3
98 3430015	ORLY® GELFX® TRT US .6 Fl. Oz. / Oz. Liq. 18 mL e BUILD	120 EA	38-240.241	3
99 3400004	ORLY® GELFX® TRT US .6 Fl. Oz. / Oz. Liq. 18 mL e NO CL	36 EA	242	3



ORIGINAL